Watsons go to Birmingham 1963
Chapter 7 Questions

	 1. What does Byron do to his hair?
		a. He gets a buzz cut.
		b. He gets a conk.
		c. He goes bald.

	 4. Why is Mama so upset with Byron?
		a. She is upset because his hair is ugly.
		b. She forbid him to straighten his hair.
		c. She wanted to straighten it herself.

3. Why did Byron change his hair?
														
														
														

4. Why does Kenny make fun of Byron?
														
														
														

5. Evaluate (Think about) Mr. Watson’s response to Byron’s disobedience. Do you 
     think that Mr. Watson did or did not respond appropriately.?  Explain.
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